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(2) A transportation problem is said to be unbalanced Whey |
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() A closed loop in a transportation problem would alwzy,

BBA 4th Semester Tl‘le{)ry Fx the number of origins does not match with the numbe, of

.- 3 h &
Time ours Full Marks - 60
Instructions : involve an even number of cells.
() The relevant cost element is replaced by a zero in case,
certain worker is not to be assigned a particular job.

() Inatwo person game, both the players must haye an equal

(i)  There are seven questions in this Paper.
(i)  Attempt five questions in all.
(iii)  Question No. 1 & 2 is compulsory.

(iv) The questions are of equal value. E{ E{ number of strategies.
1. Answerany 6: ; ; 2. Answeranythree ‘ N
Mark the following statements a T(True) or F (False). 5 Z ﬁ) Graphically solve the following problem of LP Maximiz
. . hasauniqueoptimal & L w4
(a) Every linear programming problem hasa unique op = 7y Subjeettor | 2x1-3x2 2 0
solusor. = = | Ix1+4x2 <12
i ible for the objective function value ofan LPPto o 5 X x2 <-1
(b) Itis possible for the 0bj g g x1,x2 >0
be the same at two distinct extreme points. (i) ‘- Solve the following linear programming problem using
(c) The feasibleregionofa LPPmus! bea convex set. *simplex method.
(@) An LPP can have only two decision varizbles. Maximize x1 +x2
; it ' ! | Subject to : ~2x1 +x2 <1
. method it is essential that al ubjec x1+%2 <
(e) Tosolvea LPPby simplex | Nl <2
variables in it to be non-TeBAHE nt may xl +%x2 € 3xl
0 I 'mpruvingannnoptimat solution, the key cleme 2.3 20
ni . o
be positive nesﬂti"e“r ZeT0- (i) Discuss the role of sensitivity analysis in lined
P , programrmng,
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(v) Discuss the difference
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problems "Explain.

4. Write short notes on the following:
(@) Sensitivity Analysis
(b) Steps in the simulation process

¢ Solve the following transportation problem by Least Cost
2 method and check the feasibility of the solution. The unit costs

of shipment are given in the cells below:

S research technique 1o

decisions". Elucidate

between decision maki

. making under

certamty and decision making unde ;

3. "The primary contribution of the game
concept rather than

I uncertainty.
- theory has been its
its formal application to solving real

From | | J
A 6 4 rﬂ.: | 1 50 N
| s ._ _ |
B 1 ?’_. 8 FA% 7 _,f?______{
| C N 4 4.0 2 | 60
R B EE T
Demand 20 | i}_ﬁ ‘ » J_ s

6/ Two products X and Y bot
machines 1 and II. Mac

Machine-1I has 400
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h require processing time on
] has 200 hours available, and

lable. Product X requires one
P.T.O.
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hour on machine-I and four hours on machine-IL. Prodyg y
requires one hour on machine-1and one hour on machine
Each unit of product X yields Rs.500 profit and each unj o
Y yields Rs. 250. Formulate the problem as LPP.

7. (a) Explain the Travelling Salesman Problem

(b) A dispatcher presently has six taxicabs at differen
locations and five customers who have call for service,

The mileage from each taxi's present location to each
customeris https://’www.akubihar.com

Customer 1 2 3 ] 4 -ES
Cab .
A - 7 12 74 J1w] 7
B s |1 |5 |6 | 6
C 8 | 7 16 |5 | 5
D 2 5 2 4 5
E 3 13 s 18 | 4
F 6 2 | 4 3 4

Determine the optional assipnment that will minimize the |

total mileage.
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